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The diagonal of a cube is 443 e¢m. What is its
volume ?

(a) 16 cm®

(by 32 cm?

(¢) 64 cm®

(d} 192 cm®

If 2 + 3 and 2.8, 2 where
X y X y Xy
x 0 and y # 0, then what is the

value of x+y ?

+

(a} 2
(b} 3
(c) 4

d) 8

Two trains each 200 m long move towards
each other on parallel lines with velocities
20 kmph and 30 kmph respectively. What is
the time that elapses when they first meet
until they have cleared each other ?

(a) 20s
(b) 248s
(c) 288s
(d) éO 8

X' is twice as old as Y’ 3 years ago, when
X' was as old as Y’ today. If the difference
between their ages at present is 3 years,
how old is X’ at present ?

(a) 18 years
(b) 12 years
{c} 9 years

(d) 8 years
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IfX 2,600 is divided among three persons A, B
' 1 1

and C in the ratio = : = ; -1- , how much does
2 3 4

A pget?

{a} T 600

(by T 800

(¢ T1,000

(dy ¥ 1,200

For a positive integer n, define d(n) = the
number of positive divisors of n. What is
the value of d(d(d(12))) ?

(a) 1
{b) 2
{c) 4
(d) None of the above

In a triangle ABC, side AB is extended
beyond B, side BC beyond C and side CA
beyond A. What is the sum of the three
exterior angles ?

(a) 270°
(b) 305°
() 360°
(d) 540°

PQR is a triangle right-angled at Q. If X
and Y are the mid-points of the sides PQ
and QR respectively, then which one of the
following is not correct ?

(a) RX? + PY2 =5 XY2

() RX? + PY? = XY2 + PR?

(¢) 4(RX®+ PY% =5 PR?

(@) RX? + PY? = 3(PQ? + QR?)
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9. A bicycle is running straight towards north.
What is the locus of the centre of the front
wheel of the bicycle whose diameter is d ?
(a) A line parallel to the path of the wheel
of the bicycle at a height d cm

(b} A line parallel to the path of the whee!
of the bicycle at a height d/2 cm

(c) A circle of radius d/2 cm

(d) A circle of radius d cm

10. To pass an examination, a candidate needs
40% marks. All questions carry equal
marks. A candidate just passed by getting
10 answers correct by attempting 15 of the
total questions. How many questions are
there in the examination ?

(a) 25
(h) 30
{c) 40
(d) 45

11. Assume the Earth to be a sphere of radius
R. What is the radius of the circle of
latitude 40°5 ?

(a} R cos 40°
{b) R sin 80°
{c) R sin 40°
(d) R tan 40°
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12.

13.

14.

15.

{4 - A}

The centroid of a triangle ABC is 8 cm from
the vertex A. What is the length of the
median of the triangle through A ?

(a) 20 cm
(b) 16 cm
{¢) 12 c¢m
(d) 10 cm

The equation whose roots are twice the
roots of the equation x® — 2x + 4 = 0 is

{a) x*-2x+4=0
b x*-2x+16=0
() x2-4x+8=0
(d) x*-4x+16=0

The outer and inner diameters of a circular
pipe are 6 cm and 4 cm respectively. If its
length is 10 cm, then what is the total
surface area in square centimeters ?

(a). 55+
(b 110x
(¢) 180w

(d} None of the above

A cylindrical rod of iron whose radius is
one-fourth of its height is melted and cast
into spherical balls of the same radius as
that of the cylinder. What is the number of
spherical balls ?

(a) 2
(by 3
(¢} 4
(d) &
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16, Theset S={xeN:x+3=3} isa
(a) Null set
(b) Singleton set
{c} Infinite set
{d) None of the above
17. A telegraph post gets broken at a point
against a storm and its top touches the
ground at a distance 20 m from the base of
the post making an angle 30° with the
ground. What is the height of the post ?
40
(a) —= m
J3
(b) 2043 m
(¢) 4043 m
(d) 30m
18. The sum of two numbers is 80. If the
larger number exceeds four times the
smaller by 5, what is the smaller number ?
(a) 5
(b) 15
(e) 20
{(d) 25
19. Consider the following numbers ;
1. 247
2. 203
Which of the above numbers is/are prime ?
{a) 1 only
(b) 2 only
{c}) Both 1 and 2
{d) Neither 1 nor 2
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20,

21.

22,

23.

{6 - A

If x- 1_ —1-, then what is 9x% + 2 equal
X 3 x2

to ?

(a) 18

by 19

() 20

(d) 21

Consider the following statements :

1. If 18 men can earn T 1,440 in 5 days,
then 10 men can earn ¥ 1,280 in 6 days.

2. If 16 men can earn ¥ 1,120 in 7 days,
then 21 men can earn ¥ 800 in 4 days.

Which

of the above statements is/’ag‘e
correct ? '

(a) 1 only

(b 2 only
{c) Both1and?2
(d) Neither 1 nor 2

The number 2784936 is divisible by which one
of the following numbers ?

(a) 86
(b) 87
(c) 88
(dy 89

The equation (1 + n?) x® + 2nex + (c2 —a2) = 0
will have equal roots if

(a) 2 =1+ a2
(b) c2=1-a?
(c) =1 +n?+a?

(d =01 +n?a?
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17,

18.

19.
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24, AB is a straight line. C is a point whose
perpendicular distance from AB is 3 cm.
What are the number of points which are
at a perpendicular distance of 1 c¢m from

AB and at a distance 4 ¢cm from C ?

fa) 1

(b)Y 2

{(¢) 3

(dy 4

25. If tam A = l:_f?jﬁ’ then what is
sin B
——Q—E}% equal to ?
1-tan“ A

(a) (tan B)/2

(b) 2tan B
(¢) tan B
(d) 4tan B

26. What is the value of

1+J%+J§+1—J§1+J§ !
(a) 1
b 2
e J3
{dy 2
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27.

28.

29.

30.

(8 - A}

Let C be a circle. A point P moves such
that the tangents from P to C include an
angle of 60°. What is the locus of P ?

(a) Straight line
(b} A circle concentric with C
{e) A circle touching C

(d}

A circle intersecting C at two points

What is the value of 26 — 1.9 ?

(a) 08
(b) 09
() 07
(d) 07

A garrison of ‘n” men had enough food to
last for 30 days. After 10 days, 50 more
men joined them. If the food now lasted for -
16 days, what is the value of n ?

(a) 200
(by 240
(c) 280
(d) 320

What is the ratio between times taken by a
train 240 m long to cross an electric pole
and a bridge of 80 m length ?

(a) 2:3
(b) 3:4
() 4:5
(d 5:6
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31. What is the square root of
0-324 x 0-64 x 1296
0-729 x 1-024 x 36
(a) 4
(b) 3
{c} 2
(d) 1
32. What is the number of circles passing
through all the vertices of a given triangle ?
: (a) One
| () Two
| (¢) Three
-
(d) Infinite
33. Four taps can individually fill a cistern of
' water in 1 hour, 2 hours, 3 hours and
6 hours respectively. If all the four taps are
opened simultaneously, the cistern can be
filled in how many minutes ?
{a) 20
(b) 30°
(e} 35
(d) 40
34. What is the HCF of (x* — x2 — 6) and
(x* - 4x? + 3) ?
() x2-3
b} x+2
fe) x+3
(d) x*+3
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35.

36.

37.

(10 - A}

I 2x-3y+1  x+4y+8 _ 4dx—Ty+2

2 3 5
then what is (x + y) equal to ?

(a) 3
(b) 2
(e 0
d) -2

Consider the following statements :

1.  Let P be a point on a straight line L.
Let Q, R, S be the points on the same
plane containing the line L such that
PQ, PR, PS are perpendicular to L.
Then there exists no triangle with
vertices Q, R, S.

2. Let C be a circle passing through three
distinct points D, E, F such that the
tangent at D to the circle C is parallel
to EF. Then DEF is an isosceles
triangle.

Which of the statements given above is/are
correct ?

(a) 1 only

(b)) 2 only

{c) Both1and2

{d) Neither 1 nor 2

X' completes a job in 2 days and Y

completes it in 3 days and ‘Z' takes 4 days
to complete it. If they work together and
get ¥ 3,900 for the job, then how much
amount does Y’ get ?

(a) T 1,800
(b} ¥ 1,200
(e) T 900
(d) T 800
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32.

33.

34.
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38. Water contains 14%% of hydrogen and the.
rest is oxygen. In 350 g of water, oxygen will
be
(a) 300¢g
(b) 250 g
() 200¢g
(d} None of the above

39. What is the number whose 20% is 30% of 40 ?
(a) 90 |
(b) 80
{c) 60
(d} 50

40. 38 litres of milk was poured into a tub and
the tub was found to be 5% empty. To
completely fill the tub, what amount of
additional milk must be poured ?

(a) 1 litre

(b) 2 litres
(c} 3 litres
{d) 4 litres

41. The income of ‘A’ is 20% higher than that
of ‘B’ The income of B’ is 25% less than
that of ‘C’, What percent less is A's income
from C’s income ?

(a) 7%
(b} B%
(c; 10%
(d) 12:6%
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42,

43.

44,

45,

{12 - A}

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% candidates failed in both English and
Mathematics, what percentage of candidates
passed in both the subjects ?

(a) 18%
(b) 21%
(e) 23%
(d) 25%

If the HCF of three numbers 144, x and
192 is 12, then the number x cannot be

(a) 180
(b) 84
(c) 60
(d) 48

What is the HCF of 3-0, 1-2 and 0-06 ?

(2) 086
(b) 0-06
() 60
(d) 606

What is the least number of square tiles
required to pave the floor of a room 9 m 99 em
long and 4 m 7 ¢m broad ?

(a) 247
(b) 277
{e) 297
(d) 307
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486,

If three sides of a right-angled triangle are
integers in their lowest form, then one of
its sides is always divisible by

(a) 2
(b} &
(e} 7

(d) None of the above

47. Consider the following statements :
| If p is a prime such that p + 2 is also 2 prime,
then
1. p{p+ 2)+ 1is a perfect square, |
2. 12isadivisorof p+ (p +2) if p> 3.
Which of the above statements is/are
correct ?
{a) 1 only
(b) 2 only
(c) Both 1l and 2
(d) Neither 1 nor 2
48. When a positive integer n is divided by 5,
the remainder is 2. What is the remainder
when the number 3n is divided by 5 ?
(a) 1
(b)y 2
(¢) 3
(dy 4
49, p% of x rupees is equal to t times q% of
y rupees. What is the ratio of x to y ?
(a) pt:q
(b) p:aqt
() qt:p
(d) q:pt
P-PQFA-L-RZ

50.

51.

52.

53.

{14 - A}

A certain amount of money has to be
divided between two persons P and @ in
the ratio 3 : 5. But it was divided in the
3 and thereby Q@ loses ¥ 10.

What was the amount ?

ratio of 2 :

(a) ¥ 250
(b) T 300
(c) T 350
(d) T 400

What is the value of [log,, (5 log,, 100))? ?

(a) 4
(b) 3
(c) 2
(dy 1t
Which one of the following three-digit

numbers divides 9238 and 7091 with the
same remainder in each case ?

{a) 113
(b) 209
{e) 317
(d) 191

If a and b are positive integers, x and y are
non-negative integers and a = bx + y, then
which one of the following is correct ?

a) O<y<a
b) G<ysbd
{(c}) O<y<a
(d) 0<y<b




46, uft gHeO Py & OF gId T agaw
wq | qOi® &, ﬁwﬁwgmmﬁmm
g?

(a) 2
(b) 5
e 7

9geE & | o A

frerferfas TRt o frR B :
ﬁp%%éﬂ%ﬁ#?%pﬂﬁ%
TSI B,

1. pp++1vsyiafd|

2. p+(p+2) T UGS 12 %, af p> 3.
T ¥ ¥ B R s w4

(a) &ad 1

(b) dael 2

¢y 13K 23

(d Fdar,Ige2

47,

39 U &9 Iis n, 5 e & &, & duwa
28 | 519 3n G, sﬁﬁwﬁaa‘ﬁ'{‘é ar dmww
e

48.

(a) 1
(b) 2
(c)- 3
d) 4

49, X T @ p%, y TN B q% Bt T & R & |
x AR y &1 I @ ? ?

(a) pt:q
(b)Y p:at
(cd qt:p
{(d) q:pt
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50.

'_(a)

61.

52.

53.

{15 - A)

'u
!
I
!

aﬁéﬁﬁaﬂma 5asmgmaﬁP3fRQa‘r
mﬁsﬁﬁﬁ%nﬁaaﬁm%%imﬁm2 3%
Wﬂﬁwﬁa%mmmqﬁ? 10 &I

'?ﬁgélvﬁrmaﬁv ‘

T 250

(b) T 300

'1

|

() 350 1
b

I

(d) T 400 ,‘
|

Mog,, (5 log;, 100)1* ST AF FM 2 ?

i

(a) 4

—
-

(b} 3
(cy 2

!

!

@ 1 »

\
Prffas # & 3 & v Aot
9238 3k 7091 ® Wi | W

A I9hA el & ? |

!
(a)
(b) ;_
() 317 }
(a) '

B =
Ao W

113
209

191

’_ .
a2 a 3k b o7 ol €, x 3R yiwoeR quis &
FAT a=Dbx+y, ﬁﬁﬂ%ﬁﬂﬂﬁﬁﬁ?ﬂ?@ﬂ?
G

(a)

(b)

!
0<y<a ’ l\
O<y<bh !

) O<y<a

(d) 0<y<b

$




54. A bag contains T 112 in the form of|58.
l-rupee, 50-paise and 10-paise ceins in the
ratio 3 : 8 : 10. What is the number of
50-paise coins ?

(a) 112
(b) 108
(e} 96
(d) 84

55. Two vessels are full of milk with milk-water
ratio 1 : 3 and 3 : 5 respectively. If both are
mixed in the ratic 3 : 2, what is the ratio of
milk and water in the new mixture ? 59.
(a) 4:15
(by 3:7
{c) 6:7
(d) None of the above

56. What i .he least number of complete years
in which a sum of money at 20% compound
interest will be more than doubled ?

(a) 7
(b) 6
) 5 60.
(d) 4

57. A piece of wire 78 ¢m long is bent in the.
form of an isosceles triangle. If the ratlio of
one of the equal sides to the base is 5 : 3,
then what is the length of the base ?

{a) 16 cm
(b) 18 cm
(c) 20 em
(d) 30 cm
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{16 - A}

A trader marks 10%- higher than the cost
price. He gives a discount of 10% on the

marked price. In this kind of sales how

much percent does the trader gain or lose ?

(a) 5% gain
(b) 2% gain
(c) 1% loss

(d) 3% loss
The speeds of three cars are in the ratio

4 : 3 : 2. What is the ratio between the

times takén by the cars to cover the same

distance ?

(a} 2:3:4
(b) 3:4:86
@ 1:2:3
{(d) 4:3:2

The arithmetic mean of 10 numbers was
computed as 76. It was later discovered
that a number 8 was wrongly read as 3
during the computation. What should be the

correct mean 7

(a) 71
(b) 76
(c} 81
{(d) 86




55,

56.

57.
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s 1 d € 112 &, 3 1o, 5049 stk 10489
SR FTH 3:8:10 ST AR |
50- & fyaml Y S d € ?

{a) 112

(b) 108

(c) 96

(d) 84

& Ur, B qU-IW 3FUE 1; 3 3R 8 : 5 am
AW E | ok <Ft @ 3 2% srua # freman

s, & =e fror o gu ok S B @9 euE @ 2

{a) 4:15

by 3:7

(e 6:7
e ¥ | TR AW

F of asf & &n-d-wn wEn T @ e 20%
updle @S W P ORI g 9 W it
g ? '

(a)
(b}
()
(d)

o My 3

78 ¢cm @4 AR & gHs B wAlgeg By & ¥ #

At T ¥ | O T aUeR I & AER W
U™ 5 : 3 &, 1 YR B wad a4 g ?

{a} 16 cm
(b) 18'cm
(e} 20 cm

(d) 30 cm

58.

59.

60.

/ |
| |
!

TH WU, ANE IeT 9§ 10% 3UE Swa sifed
AT & | 9% 3ifed BT R 10% N W T |

39 R & o #, wmlﬂaﬁ%mﬁu%mm
m%’lﬁ%”
(a) 5% ¥
(b) 2% ¥

(c) 1% &

(d) 3% T

?ﬂqmaﬁaﬁﬁﬁm4 3: 2?|W§?f
@ & & o BRI R fore e el & @@

s

(a) 2:83:4 ‘
(b) 3:4:6 ‘ ‘
¢ 1:2:3

(d) 4_:3:2

10 FeET3 &1 THIAR /e 7-6 | fsar |
%mﬁwm%wmsmmﬁw
TR A 3T ™ A " mwm'sﬁ
oifge ? l

(a) 71

(b) 76

(dy 86

|

|

!

X ?

(0 81 : . E
!

|
!
]




For the next 02 (two) items to follow :

The following table gives the frequency

distribution of life length in hours of
100 electric  bulbs having median life
20 hours :
Life of bulbs (in hours) | Number of bulbs
8-13 7
13 -18 X
18-~23 40
23 -28 ¥
28 - 33 10
33 - 38 2

61. What is the missing frequency x ?
(2) 31
(b 27
(c) 24
(d) 14

62. What is the missing frequency y ?
(a) 27
(b) 24
(c) 14
(d) 11

63. If one root of the equation 2x% + 3x + ¢ =0 is
0-5, then what is the value of ¢ ?
(a) =1
(b} -2
) -3
(dy -4

P-PQFA-L-RZ

64.

65.

66.

67,

{ 18 - A

The HCF of two polynomials p(x) and q(x}
is 2x (x + 2)and LCM is 24x (x + 2)% (x — 2).
If p(x)=8x3 + 32x% + 32x, then what is q(x)
equal to ?

(a) d4x® - 16x

(b) 6x* — 24x

(¢) 12x% + 24x

(d)  12x3 - 24x

What is the condition that the equation
2

ax“ + bx + ¢ = 0, where a # 0, has both
the roots positive ?

(a) a, b and c are of same sign

(b) a and b are of same sign

(c) b and c have the same sign opposite to

that of a .

(d) a and ¢ have the same sign opposite to
that of b

What is the volume (in cm®) of a

spherical shell with 8 cm and 10 ¢cm as

its  internal and external diameters

respectively ?

61n

3

122xn
3

244n
3

250n
3

(a)

{b)

{e)

(d)

ABC is a triangle and AD is perpendicular
to BC. It is given that the lengths of AB,
BC, CA are all rational numbers. Which
one of the following is correct ?

(a) AD and BD must be rational

(k) AD must be ratioﬁal but BD need not
be rational

{c} BD must be rational but AD need not
be rational

{(d) Neither AD nor BD need be rational




61.

62.

63.
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.3711302 (3 el & foe -

ﬁur%ﬁaaﬂﬂu?mouva’ra?mﬁams%aqaﬂﬁmﬁ
100 frIq aes! @1, wvel # Siaw o &1 SRARal
de feardh & -

et @1 S o (qvei A | west Y W
8-13 T
1318 _ X
18 - 23 40
23-28 y
28 - 33 10
'33-38 2

I RARAT x & & ?
(a) 31 |

(b)y 27

() 24

d) 14

T IRERAT y & ?
(a) 27
(b) 24
(© 14
d)y 11

ofe gfetor 2x% + 3x + ¢ = 0 & UF {A 05 &,
DA FIE ? :

{(a) -1
{b)
{¢) -3 .

-2

(d -4

{18 - A)

64.

65.

- (a)

66.

67.

¢

|
|

A TR px) FR qx) @ H.H.: (HCF)

ox (x + 2) & 3 @.9. (LCM) |
24x (x + 22 (x-2) ¥1 |
R p(x) = 8x3 + 32x2 + 32x &, @l qx) fHad
TR ? : 1
@) 4x° - 16x | ‘
(b) 6x ~ 2dx |
(€ 12x3 + 24x !
(d) 12 - 24x l

|

.ﬁmﬂé%ﬂmax +bx+c-0 ®

QT e SIS B, el a = 0 ?
a,baiRcom s & l
(b) a3k bwa fE s ¢ .
{¢) bsﬂ'\'cwﬁ?{‘ai aﬁiﬁg'@fﬁ'ﬁﬁ'@f
(d) - aaﬂuwﬁaés,bas%g@rﬁqﬁa@t

mﬁraﬁamaaﬂm(cmsmmﬁm

mﬂﬁaaﬁia@mmmmﬁkmcmﬁ?
1

61n ¥

(a) 3 ,

122n
3
2447 ’
3 l
250m | |
3 |

(b)

(c}

(d)

w5 Bns ABC & 3k AD, BC ® W # |'lu€
fazr a1 & &6 AB, BC, CA & awardl ¥l uRig
T | FeftRen A3 s wr e w1 € ?

(a) AD 3R BD tRag 2t & @nfge
(b) wqﬁﬂaﬁﬁmﬁvaDWﬁ

TS el )

© Bnmmam,mmméﬁ

NEATAD el

(d) qaﬁAD,qﬁrBDq&huﬁﬁm%l:




68. If 3% x 27% = 9**4 then what is x equal to ?
(a) 4
(b) 5
(c) 6
dy 7

69. The two diagonals of a rhombus are of

~ lengths 55 em and 48 cm. If p is the

perpendicular height of the rhombus, then
which one of the following is correct ?
(a) 36cm <p<37cm
(b} 35 cm < p <36 cm
(¢) 34 em<p<35cm
{d) 33em<p<34cm

70. - A toy is in the form of a cone mounted on
a hemisphere such that the diameter of the
base of the cone is equal to that of the
hemisphere. If the diameter of the base of
the cone is 6 c¢m and its height is 4 cm,
what is the surface area of the toy in em? ?
(Take = = 3:14)
(a} 9362
(b) 103-62
(c) 113-62
(d} 11550

71. The perimeter of a triangular field is
240 m. If two of its sides are 78 m and
50 m, then what is the length of the
perpendicular on the side of length 50 m
from the opposite vertex ?
(a) 43 m
(b) 522 m
{c) 672m
d} 70 m

P-PQFA-L-RZ

72,

73.

74.

75.

{20 — A)

Consider the following statements in respect
of a histogram :

1. The histogram consists of vertical
rectangular bars with a common base
such that there is no gap between
consecutive bars.

2. The height of the rectangle is
determined by the frequency of the class
it represents.

Which of the statements given above is/are
correct 7

{a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

A cistern 6 m long and 4 m wide contains
water to a depth of 125 m. What is the
area of wetted surface ?

(a) 40 m?
(b) 45 m2
(¢) 49 m?
(d) 73 m?2

The length of a minute hand of a wall clock
is 9 cm. What is the area swept (in cm?) by
the minute hand in 20 minutes ?

{(Take = = 3-14)

{a) 8878
(b) 84-78
{¢) 6774
(d) &7-78

What is the number of prime factors of
30030 ?

(a) Four
(b) Five
(c) Six :

(d) None of the above




.68.' g Fx 27 =9 FxFar w2 ? 72. % mafd & an ¥ Pefofes sv | faar
[
(a) 4 1. sodRm, Wb aER o . Feis
® 5 | ' FIAER 48 B T & T R A-F |
" - < & ¢ @ s e 2 | |
© 6 | 2 oA s AR R A
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69. U YHaQys & 2 famull I Tt 55 em 3R @) w1
48 cm £ | Ok wagds @ T Fug p &, @ N
Prffa & & @ o @ R ® 2 B
() 13k 23 |
(a) 36cm<p<37cm @ TFLIN2 B

[

73. TH6moRl R4 mdd g F 1-25mn%m§aas
ot & | W O 37 dEmer & ? |

(b} 35 cm<p<36cm

(¢} 34c¢m<p<35cm

(d) 33 cm<p<34 cm (a) 40 m2 I

. (b) 45 m? , |

70, s Ranl, 0@ e W, ve oy ¥ € 3§ o ) 49m? | l‘

MR & fF dp & SR o wn sdne & @ 738m? |

G B SR ¢ | AT P & MR T AT 6 em

& 3R FHH FaOg 4 cm B, A cm? A Raelty @ _ l
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'zofﬁqaﬁﬁqta%qémﬂﬁ%nuaaar

(@) 9362 €% (cm? #) a@ & ? (n-314a?r$-3-1u)

(b) 10362 |

© 11362 (a) . 8878 . i

!

(d) 11550 - _ (b) 8478 !

(c) 6774 ;

71. v Brpha &% o oo 240 m # | of sad @ (d) 5778
ST 78 m 3R 50 m &, & Fodig A ¥ 50 m |

TS Y S e T B et 7 & 75. 30030%%@@3‘#3&@@7@%?1

(a) 43 m @) R 5
(b) 522 m (b)

{¢) 672m ©) |

@ 70m | (@) I3® ¥ o T |
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| 76.  The angle of elevation of the top of a tower at a
| point on level ground is 45°, When moved 20 m
| towards the tower, the angle of elevation
| becomes 60°. What is the height of the tower ?
| (@) 10(+/3 ~1)m
| ) 10(V3 +Dm
| © 10E-3)m
|
| (d) 103+ v3)m
: 77. I x° - 9x® + 12x — 14 is divisible by
| (x — 3), what is the remainder ?
(a) 0
(b) 1
(c) 56
(d) 184
78. Out of 250 observations, the first
100 observations have mean 5 and the average
| of the remaining 150 observations is 25/3.
| What is the average of the whole group of
observations ?
(a) 6
by 7
(¢) 8
(dy 9
- 79,  Two circles touch each other internally. Their
radii are 4 cm and 6 cm. What is the length of
the longest chord of the outer circle which is
outside the inner circle ?
(@) 42 em
(b) 443 cm
(¢) 643 cm
(d) 842 cm
80. The distance between the centres of two
circles having radii 45 ¢cm and 35 cm
respectively is 10 cm. What is the length of
the transverse common tangent of these
circles 7
(a) 8 cm
() 7cm
(c) 6cm
(d} None of the above
P-PQFA-L-RZ

For the next 02 (two) items to follow :

81.

82.

83.

{22 - A)

The item-wise  expenditure of a
Non-Government Organisation for the year

2008 — 2009 is given below

Ttem Expenditure
(in lakh rupees)}

Salary of employees 6

Social welfare activities 7

Office contingency 3
Vehicle maintenance 4

Rent and hire charges 2-5
Miscellaneous expenses 1-5

The above data are represented by a pie
diagram. '

What is the sectorial angle of the largest
sector ?

(a) 120°

(by 105°

{c) 90°

(d) 85°

What is the difference in the sectorial
angles of the largest and smallest sectors ?
(a} 90°

{b) 85°

{c} 82:5°

(dy 77-5° ’ '

In a triangle ABC, a line PQ is drawn
parallel to BC, points P, Q being on AB
and AC respectively. If AB = 3AP, then
what is the ratio of the area of triangle
APQ to the area of triangle ABC ?

(a) 1:3
by 1:5
(¢) 1:7
(d 1:9




76.

77.

78.

79.

80.
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{c)
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by 1

() 656
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82.
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ABC & &a%e & o1 3Wa & ?
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1:3

by 1:5 '

(c) 1:7 . \
1:9
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84. What is one of the square roots of 88. Two unequal circles are touching each other
9 - 2414 ? externally at P. APB and CPD are two
@ 7 -3 secants cutting the circles at A, B, C and
| ) V6 - V3 D. Which one of the following is correct ?
é @ V7 -5
@ J7 - J2 ] (a) ACBD is a parallelogram
85. Whatis 27 x 1-2 x 5:5262 x 0-6 equal to ? (b) ACBD is a trapezium
(a) 12157
by 12175 (¢) ACBD is a rhombus
(@ 12175

(d) None of the above
(d) None of the above

86. ABC is an equilateral triangle inscribed in a . . .
circle with AB = 5 cm. Let the bisector of the 89. ABC is a triangle right-angled at B and D

angle A meet BC in X and the circle in Y. is a point on BC produced (BD > BC), such
i ?
What is the value of AX . AY that BD = 2 DC. Which one of the following

(a) 16 cm? .
b) 20 cm? is correct ?
(¢} 25 em?
@ 30 cm? (a) AC? = AD? - 3CD?
87. Consider the following statements : | (b) ACZ = AD? — 2CD?
Statement-I : Let PQR be a triangle in which
PQ=3cem, QR=4ecm and () AC? = AD? — 4CD?
RP =5 c¢cm. If D is a point in the
plane of the triangle PQR such (d) AC? = AD? - 5CD?

that D is either outside it or
inside it, then
DP +DQ + DR >6cm.

Statement-II : PQR is a right-angled triangle.

90. Let LMNP be a parallelogram and NR be

perpendicular to LP. If the area of the
Which one of the following is correct in respect parallelogram is six times the area of triangle
of the above two statements ? RNP and RP = 6 cm, what is LR equal to ?

(a) Both statement-I and statement-II are
individually true and statement-II is the

correct explanation of statement-I. (@) 15 cm
(b)Y DBoth statement-l and statement-II are
individually true and statement-II is not (b) 12 cm
the correct explanation of statement-1.
{c} Statement-1 is true and statement-II is ¢} 9cm
false.
(d) Statement-I is false and statement-II is (d) 8 em
true.

P-PQFA-L-R2 , {24 - A)




84.

85.

86,

87.
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(c)
@ 7 -2

27 x 1-2 x 5-5262 x 0-6 fovap WA & ?
(a) 12157

(b) 12175

(c) 12175

(dy 3w 4 ¥ DR AN

ABC wvarg frgs @ o uw g & sifa ¥, s
AB = 5 cm | T @fse a1 A F1.fgwes BC
XTI YA BT &1 AX.AY &
T FE ?
(a) 16 ¢m?
(b) 20 cm?
{c) 25 cm?
(d) 30 cm?

FrafaRes syl | Tar Hifow -
el
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RP=5cm | afg
ADwRgeamwré¢FEDaa

TP TR, I 355 X &, a

DP+DQ +DR>6cm.

oIl :  PQR S WO B 2 |
e A T ¥ wel # PrefiRag # ¥ sl A
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88.
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(256 - A}
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1

4

B | TS FT1 ABC 0 Prst € 3k BC @
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or T 7 |

(a) AC? = AD? _ 3CD? |
(b) AC? = AD? - 2¢D2 |
(¢) AC? = AD? — 4CD? : i

¥

(d) AC? = AD? - 50D?

7 it LMNP o6 #HI=R agHst § 3R LP, R
NR oe & | of2 s ogdst & aFwd R
RNP & &% &1 & [ & IR RP =6 cm 2/
LR oo aeR & ?

(a) 15 em | | '
(b} 12 cm b
I
I

() 9em

(d) 8cm | . . o




91. The material of a solid cone is converted into
the shape of a solid cylinder of equal radius. If
the height of the cylinder is 5 cm, what is the
height of the cone 7
{a) 15 em
(bh) 20 em
(¢c) 25 cm
(d) 30 em

92. Let D, E be the points on sides AB and AC
respectively of a triangle ABC such that DE is
parallel to BC. Let AD =2 cm, DB =1 em,
AE = 3 cm and area of triangle ADE = 3 cm?.
What is EC equal to ?

(a) 15 cm
(b) 16cm
(¢) 1-8cm
(d) 2-1cm .

93. A sum of money on compound interest amounts
to ¥ 9,680 in 2 years and to T 10,648 in 3 years.
What is the rate of interest per annum ?

(a) 5%

(b} 10%
(c) 15%
(dy 20%

94, The curved surface of a cylinder is 1000 cm?.’
A wire of diameter 5 mm is wound around it,
0 as to cover it completely. What is the
length of the wire used ?

(a) 22 m
(b 20 m
{c}) 18 m
{(d) None of the above

95. Three congruent circles each of radius 4 em
touch one another. What is the area (in em?)
of the portion included between them ?
fa) 8=
(b) 16v3 — 8=
(¢} 163 — 4=
d 16V3 -2z
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96.

97.

98.

99,

100.

(26 - A )

A man can walk uphill at the rate of 2-5 kmph
and downhill at the rate of 3-25 kmph. If the
total time required to walk a certain distance
up the hill and return to the starting position
is 4 hr 36 rhin, what is the distance he walked
up the hill ?

(a) 35 km

(b) 45km

(¢) 55 km

(d 65 km

What is  cot 15° cot 20° cot 70° cot 75° equal
to ?

(a)y -1

(b) 0

(c) 1

d 2

If sin 36 = cos (8 — 2°) where 30 and (8 — 2°)
are acute angles, what is the value of 6 ?

(a) 22°
(by 23°
(e} 24°
(dy 2s°
N :
What is 51n2 8 cosz 0 equal to ?
sin“ 6 — cos“ 6
(a) sin* 6 - cos*@
(b) 1 - sin® 0 cos® B

(¢} 1+ sin? 0 cos? o

(d) 1~ 8 sinZ 0 cos® 8

Consider the following : ,
1. tan? 6 — sin? 6 = tan® @ sinZ 6
2. {cosec ® — sin B) (sec 8 — cos 8)

(tan 6 + cot B) = 1
Which of the above is/are correct ?
(a)
{b) 2 only is the identity
{c) Both 1 and 2 are the identities
(d) Neither 1 nor 2 is the identity

1 only is the identity




91. US 39 TP B AHN B K 3591 & 0B I
I & AR H geq G ey & 1 af dew &
FT% 5 cm ¥, @1 P B Fag qA @ ?
(a) 15 cm
(b 20 cm
(c) 25cm
{d) 30 c¢m

92. W @fo Brgsr ABC @1 gomsi AB 3R AC W
waer fag D 3k E 59 yoR & 5 BC & 9wR
DE®| A9 &5t AD =2 cm, DB = 1 c¢m,
AE =3 cm 3R Prye ADE & &5%d = 3 ¢cm?
& | EC foud v & 2

.(a) 15 em
(b) 16 cm
(c) 18cm
(dd 21cm
93. fFd o9 W Tmgls & og @) & ¥ ¥ T 9,680

IR AT § 2 10648@%1%!@3&@133?
e g ?

96.

97.

98.

(a)-

(b)
()
(d)

94. 5N 37 &1 9% g5 1000 ecm? & | _5mma:n§
' F TF aR 39P Orl AR deT R &, 91 N I8
I &F o | A fobu e AR &) oS @ 2 P

(a)
{b)
(t:)

5%

10%
15%
20%

22 m
20 m
18 m

99,

100.

) IGH A g
95, ﬁlﬂaﬁmqa%qﬁmﬁﬁmw; cm g,

R TH-GER B el o & | g a1 & e
B BFBeT (cm? W) FAr & ?

(a) 8n |
(b) 163 - 8«
(€) 163 —4n
(d) 1643 - 2x
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o

|

uasmﬁsqaé’ruzaaﬁguz-5hnpll13ﬁ1m§e
3:25 kmph & @ ¥ 0 G&dl ¢ | 9w |
0 Q@ @ Tg aR, TN i R'ITR &R aow
I A A g 4 92 36 BT and €, @ 97 =it
TETel R bt R & Tg &1 ?

(a) 35 km ‘

() 45 km ',

(c) 55km ' ‘

(@) 65 km [

cot 15° cot 20° cot 70° cot 75° ﬁi‘lﬂiﬂ'\’lﬁ? g2

C(a) -1

|
b 0 ' l
(cy 1 ||

@ 2 | |

aRE sin 36 = cos (6 — 2°) F&I 393?11(‘9-2")?{3
PO E OB AT Y ?

(a) 22° "

(b) 23° [

(c) 24° ‘

@ 25°

sin® 0 — cos®o e
W‘e‘?
sin 6-00528

l
(a) sin® 9 - cost © |
(b) 1 —sin%0 cos?© !
{© 1+ sin?0 cos? @ i
(d) 1-3sin®0 cos® 6 L
Frafafa = dar Hiw

1. tan? @ — sin® 0 = tan® @ sin 6

2. (cosée © — sin B) (sec O — cos 0) ‘
{(tan'6 + cot 6) =1

e 3 B W R A |
() oA 1T TSI & '
(b) . Hae 2 & Teams & |

(¢) 13K 22 & aans € .

@ a1k T A 2 acns 3 ’

. - —
——— T
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T oW & fore s |
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yeTer & fore e e ft TEW R |

AUDHT AU TR TGa e § faw e IR-0396 W & 3 F & | sR-uAe # fev-nw fdw 2Raw |
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& | U 3T WY AT GRAT & T B SRR E
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Note : English version of the instructions is printed on the front cover of this Bocklet.




